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REFAN AN BEEE - THE BHOEX 01 RSES:

1. ik ABCD — EFGH %, NXI®D X ) IcHiBi#EZ Ul Z v, b 2RI 2EZAD. 2 Lihkod s X
N2 DIERFRE EDOARTI 0, (S#1740%, A2 408, B4y, C#6%5)

(1)

* MDA A—Y FTETETR
il ABFE &1 DCGH 23T =  UQ & DV2&FAT
i AEHD & i BFGC 23T = UD & QV23WAT
X o T 2 HDOXAHFLTH 6, UQVD 13 T8/,

VRO =AP+PB=3+3=6 = QF=6-45=1.5

APAU » APBQ
AP=BP TH2h 64, = UA=QB=4.5

KD X HIZV 25 BF OIEERRIC
TALEHROREZ T & TS,
AUAD = AQIV
= QI=UA=45
GV=QI-QF=45-15=3
ARFQ» ARGV = RF:RG=FQ:GV=15:3=1:2
ASGVLAASHD = SG:SH=GV:HD=3:6=1:2

* BEDTH> DA A=Y
VIR D—L=BP+PF=4+2=6 = QH=06-3=3
APAB» APXF = AB:XF=BP:FP=4:2=2:1 = XF=6x3

=3
AQAD» AQYH = AD:YH=DQ:HQ=3:3=1:1 = YH=6x1=6
AFXR ©» AGSR «» AHSY» AEXY

RED AEXYD EX=64+FX=6+3=9, EY=6+HY =6+6=12
= D3 ODEAZAED, EAZIII LI 9:12=3:4

© B - Bz L -9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. 1 H& ABCD — EFGH %, TRI® X 9 icHibhiiz H o TUIWimZ iV, 23R I 2EEAD. 2 L HRoU EE X
Nz DIEER DA T I, (SH1730%, A2 408, B4y, C#6%)
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* AMODA A=Y FITETETR
i ABFE &1 DCGH 23T =  UQ & DVASWAT
il AEHD & i BEGC 23T = UD & QV23¥ AT
X o T 2MDIADEATE D6, UQVD 13 FITIBH.

VRO =AP+PD=34+3=6 = QH=6-4=2

APAU «» APDQ
AP=DP Th 3054, = UA=QD=4

ERD & 512V 225 DH OIERFRIC
TALEMROREZ T & TS,
AUAB = AQIV
= QI=UA=4
GV=QI-QH=4-2=2
ASGVA ASHQ = SG:SH=GV:HQ=2:2=1:1
ARGV» ARFB = RG:RF=GV:FB=2:6=1:3
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* BBEDTH> DA A=Y

MAERD—4=BP+PF=3+3=6 = QH=6-36=24
APAB» APXF = AB:XF=BP:FP=3:3=1:1 = XF=6x1=6
AQAD» AQYH = AD:YH=DQ:HQ=36:24=3:2 = YH=6x32=4
AFXR ©» AGSR «» AHSY» AEXY

%D AEXYD EX=6+FX=6+6=12, EY=6+HY =6+4=10

= fho 3 >DEM=ZAIES, EfZIEITADOHA 12:10=6:5
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